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маршрут, по которому 
Саша ходит в школу;

5 + 27 + 42 + 7 = 81 (мм)
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4 + 27 + 30 + 27 + 5 =  

маршрут, по которому 
Саша ходит в школу;

маршрут, по которому 
Маша ходит в гости к 
Саше;

93 (мм)  

5 + 27 + 42 + 7 = 81 (мм)



№ 604

маршрут, по которому 
Маша ходит в школу.

маршрут, по которому 
Саша ходит в школу;

маршрут, по которому 
Маша ходит в гости к 
Саше;

4 + 27 + 13 + 7 =

1 : 1000

81 · 1000 = 81 000 (мм)

93 · 1000 = 91 000 (мм) = 

51 · 1000 = 47 000 (мм) =

83 (м) – длина маршрута

51 (мм)  

47 (м) – длина маршрута

5 + 27 + 42 + 7 = 81 (мм)

= 81 (м) – длина маршрута

4 + 27 + 30 + 27 + 5 =  93 (мм)  


